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2 XtelZ Mt 3,807,642 6,557,240 A2,749,598
< 80,000
Al 3,727,642
s3HR =& (MY - SAILLNUX/MHIE - DES 3,807,642 2,522,640 1,285,002
)
< 80,000
Al 3,727,642
S3HA ZEMNG(sSANAEELSAMSSESA) 3,807,642 2,522,640 1,285,002
< 80,000
Al 3,727,642
SsS3HA 2l - 2Y 299,700 263,400 36,300
201 24l 33,400 63,400 A 30,000
01 At 2t 2l 19,000 49,000 A 30,000
O=3 Xl L9 4,000,000& 4,000
Os3HX HME&y Xt 5,000,000& 5,000
O=s3HX =47y ZHYX 10,000, 000& 10,000
02 2324l 14,400 14,400 0
Os3Hi 232= 1,200,000& * 12&8 14,400
202 Odl 5,000 5,000 0
01 = LH 4 Hi 5,000 5,000 0
O=s3CtHX 2l & & ol 5,000,000& 5,000
307 glz2tol & 221,000 195,000 26,000
05 RIZtE = 221,000 195,000 26,000
OLXZHYUYASR BJAL 22/YR LIS
& 221,000, 000& 221,000
405 RHoHF S HI 40,300 0 40,300
01 AL EZFH S 40,300 0 40,300
O=s3HX &3FHl =2 XX 7
40,300,000 40,300
HEsSSHX SSH=HMelAlEAS 3,247,942 2,049,240 1,198,702
201 ¢er24l 42,350 0 42,350
01 At 22/l 20,350 0 20,350
OBZHAHAAL QNS AT SIS
2 dA=E 150,000& * 9YH 1,350
OZ33H=HMelAE =ZETMS SFI|J| A2 7
= 7 15,000, 000& 15,000
OZ3SH=HMelAME =ZTMS SZIIJ| E=Z A
Sabalt=d 4,000,000& 4,000
02 =224l 22,000 0 22,000
OZ3SH=HMelAE =ZTMS R 2| tHd =
B2 22,000,000 22,000
206 M= Hl 13,000 0 13,000
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01 X2 H| 13,000 0 13,000
OZ2Z2HEXMelAld =ZETMS SEI|J| Al P2
el 13,000,000& 13,000
207 SO0 & 19,000 0 19,000
01 | 19,000 0 19,000
OZ2Z2HE+XM2AE 292 IS 249
19,000,000& 19,000
307 2Iz2t0| & 2,550,000 1,950,000 600,000
05 QIZ2tREF 2 2,550,000 1,950,000 600,000
OZ2Z2HE=HelAlE DIt E
212,500,000& = 12&€ 2,550,000
401 AIEHIZL 201 Y| 128,592 79,240 49,352
01 Al&H| 128,592 79,240 49,352
OZ2Z2HE=HelAlE =44 Ad|
100,000,000 100,000
OS3H=XAIE AENESYEZ
20,422,734,000& * 70% * 0.2% 28,592
405 XHA&HF S HI 495,000 20,000 475,000
01 AL 2 FF S| 495,000 20,000 475,000
O2Z2HE=XelAld =548 A =8 2
40,000,000 40,000
OZ2Z2HE=H2AIE BtsXx 222
455,000,000& 455,000
WEsZ2CSX SSIIBHAIE HEIAY 100,000 50,000 50,000
401 Al HI L 2 0HHI 100,000 50,000 50,000
01 Al& H| 100,000 50,000 50,000
OUHESZ2HX JIBtAIE KA 24|
50,000,000 50,000
OUE His3sSHX =52 FHH AANEAHs
o 50,000,000 50,000
AHCX K& 160,000 160,000 0
= 80,000
Al 80,000
301 dEtE M= 160,000 160,000 0
& 80,000
Al 80,000
12 JIEtE2 A= 160,000 160,000 0
OLJE s2HX =01 2F/Hl XN
160,000,000 160,000
=} 80,000
Al 80,000




